> ) | <oos

D sl HRO-2 < o

5 [(s<ttr) <28 o ARAR, AEE 2 A3 3 ef Ay <ok
o) 0<[//f‘3(<0-4(4

= S:o-%
S giled 9 teacs o L<a<l
:)E—\<7H<E*(
D 0<]7r—\/<£-\ :)CQ:(E\(

B @) K-?c—g\<0-( =) —0.[< 4L o | D — oL X2 < 0. 028

4(x-2)
= 0</7C-2(< 0- oS
=) §= 0.02%
((D) KJX’ g\ <0.0\ = —-0~01 < %< 0.0 :) ——0.0075< -2 < 0.002£
4(x-2)
= 0<}7f‘2(< 0- 002§
_‘_r) S—= 0.00 2
2 fha(Fr-4) =)
xS
v £=zo , 3 §7o st l:ax‘{_ _7‘<€ Whenewr 0<(’7(—S(<g

e+ pefe

Ths Bk o3€  affmdl ol ot [27-1 -1 <€



>b. ,@m n =0

0

yE£zo

= )7(3[< (SR

30, [ (%579 ) <

72

yE=o

= fﬂ%mc—xk €

swee o< [x2(< §

4.

(73

¥ E=ze

> ) <

> [6000

J >0 st

(000D

S {’7(+3|‘6<_(J—

3 £>0 st [",{3*0 (<£ Whenewr D<{7(—0(<g

3 £
1l € = |x< €3

Thas fake C= {3", m“ﬁrmﬂﬁ %v@@_ st [ 70;'0( <&

3 >0 st lwﬁzﬂ*')‘ll<f, (/\/Llcnevvr 0<{7("2_(<g

&) (6r~2) (7t ¢) [ <€ = (7 [7(44[ <€

g 2L ¢ 9 —SH<CatE<Ste

= o« }7(+‘€( < 6-§

A
= o<!ﬂf‘2l<%£—
é
ke § = —f—<§

ﬂ%ﬁmﬂ\/ﬁ/ onedl st A*a7A-0-I| <€

(
o )<

D0

(
= | < F(»’ = Tke §-= ,—'0 m—ﬁ@m;@? ;W/(f_ st W > (%000



43. fw o = =

x>0°

\Ul M<Lo 3 570 s. €. /éfl7(<M y\/aewe./er o<{7[’—o(<5

O((QM > 0<(7C(< €M Tke § =" s\rf‘ﬁm}? §mq/€(_ st /@«7</V(



